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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according

to the detailed instructions given therein.

Candidate s  s h ould lim it th e ir answ e rs  to th e

q u e stions  on th e  given answ er s h e et. No

additional (B) answ er s h e et w ill be is su ed.

 (70)   (02)

          





       





A–216/GEG-508 ( 2 )

Section–A

–

Long Answ er Type Questions

 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

(05) 

(19) 

(02) 

1. Discuss the factors helpful in centralization of cotton

textile industry.

       



2. Write a detailed article on the North Atlantic Ocean

Waterway.



3. “Van Thunen’s theory is impractical in today’s

context.” Please review.

         


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4. What is called decision ? Explain the decision making

process.



5. Divide India into economic regions.



Section–B

–

Sh ort Answ er Type Questions

 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

    (08)      

(08)

(04) 

1. Explain the methods of determining what economic

regions are.

          



2. What is meant by centrality of central places ?


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3. Write a note on either Suez or Panama Canal route.



4. Explain the factors affecting transportation cost.



5. Explain the world distribution of paper and pulp industry.

 

6. Throw light on the major ocean waterways of the world.



7. Criticise Christler’s theory.



8. Write a note on China’s cotton textile industry.

 

**************


